
Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

156 TS-S2 492 TS-SH 492 TS-SD 502

RF02-N

20□
4096 /

※1 ±0.05 °
＋

※2 420 °/sec 280 °/sec

0.22 N・ｍ 0.32 N・ｍ
0.11 N・ｍ 0.16 N・ｍ

±0.5 °
※3 0.0018 kg・ｍ2 0.004 kg・ｍ2

：1 m / ：3 m, 5 m, 10 m

310 °

※1. 。
※2.  。 

“ ̶ 、 ” 、“ ̶
” 。

※3. ， P.606 。

  ● CE      ● 310°  

■ 

RF02 ー N ー L ー ー

ー ー ー ー ※1

N：
 （ ）

N： N： L： N：CCW 1K：1m
H： H： Z：CW 3K：3m

5K：5m
10K：10m

※1. 。
※2. DIN P.500。
※3. 。 P.62。

RF02-NN  – 

AA

（ ）

(15)

(31)

(4
0)

(2
4)

85(2.1) (2.1)

φ42h8(  0
－0.039)

φ43h8(  0
－0.039)

6

32
10

3.
5

142

3H
8(
+0

.0
14

 0
)

4

2-M6×1.0 12

76

65.8

16

51 27

2

45
° 42 15

2

3H
8(
+0

.01
4

 0

)

3.8

30°

3H8( +0.014
 0
)

4

2-φ5.2
φ9  5.5

P.C.D.32

6-M4×0.7 6
（60° ）

φ15H8( +0.027
 0 )

φ18H8( +0.027
 0 )

170
（ ： ）

φ8（ ）

7（
）

2（
）

52

51

52

42

CW
【 】*3

*2
CCW
【 】

5°±
1

C
C

W

CW

31
0°

5°±
1

*1

*1 。
    。
*2 。
*3 。

 A-A 

/

（kg） 0.49

1.    .............  
  ............. /  
。

2. R30。
3. 。

TS-S2
TS-SH

/

TS-SD

（a） （b）

（N） （N） （N·m）（a） （b）

78 86 74 78 107 2.4 2.9

※ ， “ ̶ 、 ” 、“ ̶ ” ，
。 

TRANSERVO 。

0.0000

0.0005

0.0010

0.0015

0.0020

0.0025

0.0030

0.0035

0.0040

0.0045

100 1000 10000
、 （°/s2）

：
I（

kg
･m

2 ）

0.00

0.05

0.10

0.15

0.20

0.25

0.30

0.35

0 100 200 300 400 500
：ω（°/s）

：
T（

N
･m
）

■ 

■  – · ■  – 

■ 

S2
S2：TS-S2※2 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SD 1
I/O

SD：TS-SD 1：1m



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

157TS-S2 492 TS-SH 492 TS-SD 502

RF02-NH  – 

AA

（ ）

(15)

(31)

(4
0)

(2
4)

85(2.1) (2.1)

φ42h8(  0
－0.039 )

φ43h8(  0
－0.039 )

6

32

142

3H
8(
+0

.0
14

 0
)

4

2-M6×1.0 12

76

65.8

16

51 27

2

45
° 42 15

2

3H
8(
+0

.01
4

 0

)

3.8

30°

3H8( +0.014
 0
)

4

2-φ5.2
φ9  5.5

P.C.D.32

6-M4×0.7 6
（60° ）

φ15H8( +0.027
 0 )

φ18H8( +0.027
 0 )

170
（ ： ）

φ8（ ）

7（
）

2（
）

10
.5

17

52

51

52

42

CW
【 】*3

*2
CCW
【 】

5°±
1

C
C

W

CW

31
0°

5°±
1

*1

*1 。
    、 。
*2 。
*3 。

A-A 

RF02

（kg） 0.52

1.    .............  
  ............. /  
。

2. R30。
3. 。



Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

158 TS-S2 492 TS-SH 492

RF02-S

20□
4096 /

※1 ±0.05 °
＋

※2 420 °/sec 280 °/sec

0.22 N・ｍ 0.32 N・ｍ
0.11 N・ｍ 0.16 N・ｍ

±0.5 °
※3 0.0018 kg・ｍ2 0.004 kg・ｍ2

：1 m / ：3 m, 5 m, 10 m

360 °

※1. 。
※2.  。 

“ ̶ 、 ” 、“ ̶
” 。

※1. ， P.606 。

  ● CE      ●    

■ 

RF02 ー S ー L ー ー

ー ー ー ー ※1

S： 
 （ ）

N： N： L： N：CCW 1K：1m
H： H： Z：CW 3K：3m

5K：5m
10K：10m

※1. 。
※2. DIN P.500。
※3. 。 P.62。

RF02-SN  – 

AA

（ ）

(15)

(31)

(4
0)

(2
4)

85(2.1) (2.1)

φ42h8(  0
－0.039 )

φ43h8(  0
－0.039 )

6

32
10

3.
5

142

3H
8(
+0

.0
14

 0
)

4

76
65.816

51

15
2

30°

3H8( +0.014
 0
)

4

2-φ5.2
φ9  5.5

P.C.D.32

6-M4×0.7 6
（60° ）

φ15H8( +0.027
 0 )

φ18H8( +0.027
 0 )

170（ ： ）

φ8（ ）

7（
）

2（
）

52

51

52

42

300（ ： ）

(15)

(2
0)

2- 6×1.0 12

72

11

4.
8

C
C

W
C

W

36
0° *1

 A-A 

*1 
、 。

*2 ，
。

TS
。

/

（kg） 0.51

1.    .............  
  ............. /  
。

2. 、 R30。
3. 。

TS-S2S 
TS-SHS

/

（a） （b）

（N） （N） （N·m）（a） （b）

78 86 74 78 107 2.4 2.9

※ ， “ ̶ 、 ” 、“ ̶ ” ，
。 

TRANSERVO 。

0.0000

0.0005

0.0010

0.0015

0.0020

0.0025

0.0030

0.0035

0.0040

0.0045

100 1000 10000
、 （°/s2）

：
I（

kg
･m

2 ）

0.00

0.05

0.10

0.15

0.20

0.25

0.30

0.35

0 100 200 300 400 500
：ω（°/s）

：
T（

N
･m
）

■ 

■  – · ■  – 

■ 

S2
S2：TS-S2※2 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

159TS-S2 492 TS-SH 492

RF02-SH  – 

AA

(15)

(31)

(4
0)

(2
4)

85(2.1) (2.1)

3H
8(
+0

.0
14

 0
)

4

76

65.816

51

15
2

30°

3H8( +0.014
 0

)

4

2-φ5.2
φ9  5.5

P.C.D.32

6-M4×0.7 6
（60° ）

φ15H8( +0.027
 0 )

170（ ： ）

7（
）

51

52

42

2- 6×1.0 12

φ42h8(  0
－0.039 )

φ43h8(  0
－0.039 )

6

32

10
.5

17

φ18H8( +0.027
 0 )

φ8（ ）

2（
）

（ ）

300（ ： ）

(15)

(2
0)

72

142

52

11

11
.8

C
W

C
C

W

36
0° *1

 A-A 

*1 。
、 。

*2 ， 。
    ， TS 。

RF02-S

（kg） 0.55

1.    .............  
  ............. /  
。

2. 、 R30。
3. 。



Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

160 TS-S2 492 TS-SH 492 TS-SD 502

RF03-N

28□
4096 /

※1 ±0.05 °
＋

※2 420 °/sec 280 °/sec

0.8 N・ｍ 1.2 N・ｍ
0.4 N・ｍ 0.6 N・ｍ

±0.5 °
※3 0.012 kg・ｍ2 0.027 kg・ｍ2

：1 m / ：3 m, 5 m, 10 m

320 °

※1. 。
※2.  。 

“ ̶ 、 ” 、“ ̶
” 。

※3. ， P.606 。

  ● CE      ● 320°  

■ 

/

RF03-NN  – 

*1 
    
*2 
*3 

 A-A 

AA

（ ）

(15)

(2
4)

(4
0)

(31)

180
（ ： ）

180
（ ： ）

66

75
252

4H
8(
+0

.0
18

 0
)

5

2-M8×1.25 16

107(2.4) (2.4)

φ64h8(  0
－0.046 )

φ63h8(  0
－0.046 )

40
13

4.
58

102
88.2

20

φ22H8( +0.033
 0 )

φ32H8( +0.039
 0 )

φ 7（ ）

8（
）

2（
）

75

66 39

2

45
° 42

23
24H

8(
+0

.01
8

 0

)

4.8

30°

4H8( +0.018
 0
)

5

2-φ6.8
φ11  6.5

P.C.D.48

6-M5×0.8 8
（60° ）

58

*2
CCW
【 】

5°±
1

C
C

W

CW

【
5°±

1】

32
0°

*1

CW
【 】*3

RF03 ー N ー ー ー

ー ー ー ー ※1

N：
 （ ）

N： N： R： N：CCW 1K：1m
H： H： L： Z：CW 3K：3m

5K：5m
10K：10m

※1. 。
※2. DIN P.500。
※3. 。 P.62。

（kg） 1.1

1.    .............  
  ............. /  
。

2. R30。

TS-S2
TS-SH

/

TS-SD

（a） （b）

（N） （N） （N·m）（a） （b）

196 233 197 363 398 5.3 6.4

※ ， “ ̶ 、 ” 、“ ̶ ” ，
。 

TRANSERVO 。

、 ： （°/s2）

：
I（

kg
·m

2 ）

0.000

0.005

0.010

0.015

0.020

0.025

0.030

100 1000 10000
：ω（°/s

：
T（

N
·m
）

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

0 100 200 300 400 500

■ 

■  – · ■  – 

■ 

S2
S2：TS-S2※2 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SD 1
I/O

SD：TS-SD 1：1m



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

161TS-S2 492 TS-SH 492 TS-SD 502

RF03

RF03-NH  – 

AA

（ ）

(15)

(2
4)

(4
0)

(31)

180
（ ： ）

180
（ ： ）

66

75

252

4H
8(
+0

.0
18

 0
)

5

2-M8×1.25 16

107(2.4) (2.4)

φ64h8(  0
－0.046 )

φ63h8(  0
－0.046 )

40

102
88.2

20

φ22H8( +0.033
 0 )

φ32H8( +0.039
 0 )

φ17（ ）

8（
）

2（
）

75

66 39

2

45
° 42

23
24H

8(
+0

.01
8

 0

)

4.8

30°

4H8( +0.018
 0
)

5

2-φ6.8
φ11  6.5

P.C.D.48

6-M5×0.8 8
（60°

13
.5

22

56

8

*2
CCW
【 】

5°±
1

C
C

W

CW

【
5°±

1】

32
0°

*1

CW
【 】*3

 A-A 

*1 
    
*2 
*3 【　】

（kg） 1.2

1.    .............  
  ............. /  
。

2. R30。



Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

162 TS-S2 492 TS-SH 492

RF03-S

28□
4096 /

※1 ±0.05 °
＋

※2 420 °/sec 280 °/sec

0.8 N・ｍ 1.2 N・ｍ
0.4 N・ｍ 0.6 N・ｍ

±0.5 °
※3 0.012 kg・ｍ2 0.027 kg・ｍ2

：1 m / ：3 m, 5 m, 10 m

360 °

※1. 。
※2.  。 

“ ̶ 、 ” 、“ ̶
” 。

※3. ， P.606 。

  ● CE      ●    

■ 

/

RF03-SN  – 

AA

（ ）

(15)

(2
4)

(4
0)

(31)

180（ ： ） 180（ ： ）

66

75

252

4H
8(
+0

.0
18

 0
)

5

2-M8×1.25 16

107(2.4) (2.4)

φ64h8(  0
－0.046 )

φ63h8(  0
－0.046 )

40
13

4.
58

102
88.220

φ22H8( +0.033
 0 )

φ32H8( +0.039
 0 )

φ17（ ）

8（
）

2（
）

75

66

23
2

30°

4H8( +0.018
 0
)

5

2-φ6.8
φ11  6.5

P.C.D.48

6-M5×0.8 8
（60° ）

58

300（ ： ）

(2
0)

(15)

300（ ： ） 94

11

7.
8

C
C

W
C

W

36
0° *1

 A-A 

*1 
。
、 。

*2 ，

。

TS
。

RF03 ー S ー ー ー

ー ー ー ー ※1

S： 
    （ ）

N： N： R： N：CCW 1K：1m
H： H： L ： Z：CW 3K：3m

5K：5m
10K：10m

※1. 。
※2. DIN P.500。
※3. 。 P.62。

（kg） 1.2

1.    .............  
  ............. /  
。

2. 、 R30。

TS-S2S
TS-SHS

/

（a） （b）

（N） （N） （N·m）（a） （b）

196 233 197 363 398 5.3 6.4

※ ， “ ̶ 、 ” 、“ ̶ ” ，
。 

TRANSERVO 。

、 ： （°/s2）

：
I（

kg
·m

2 ）

0.000

0.005

0.010

0.015

0.020

0.025

0.030

100 1000 10000
：ω（°/s

：
T（

N
·m
）

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

0 100 200 300 400 500

■ 

■  – · ■  – 

■ 

S2
S2：TS-S2※2 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

163TS-S2 492 TS-SH 492

RF03-S

RF03-SH  – 

AA

（ ）

(15)

(2
4)

(4
0)

(31)

180（ ： ） 180（ ： ）

66

75

252

4H
8(
+0

.0
18

 0
)

5

2-M8×1.25 16

107(2.4) (2.4)
102

88.220

φ22H8( +0.033
 0 )

8（
）

75

66

23
2

30°

4H8( +0.018
 0

)

5

2-φ6.8
φ11  6.5

P.C.D.48

6-M5×0.8 8
（60° ）

58

300（ ： ）

(2
0)

(15)

300（ ： ） 94

11

φ64h8(  0
－0.046 )

φ63h8(  0
－0.046 )

40

8

22

13
.5

φ32H8( +0.039
 0 )

φ17（ ）

2（
）

16
.8

C
C

W
C

W

36
0° *1

 A-A 

*1 。
、 。

*2 ， 。
    ， TS 。

（kg） 1.3

1.    .............  
  ............. /  
。

2. 、 R30。



Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

164 TS-S2 492 TS-SH 492 TS-SD 502

RF04-N

42□
20480 /

※1 ±0.05 °
＋

※2 420 °/sec 280 °/sec

6.6 N・ｍ 10 N・ｍ
3.3 N・ｍ 5 N・ｍ

±0.5 °
※3 0.04 kg・ｍ2 0.1 kg・ｍ2

：1 m / ：3 m, 5 m, 10 m

320 °

※1. 。
※2.  。 

“ ̶ 、 ” 、“ ̶
” 。

※3. ， P.606 。

  ● CE      ● 320°  

■ 

/

RF04-NN  – 

AA

 A-A 

127(3) (3)

φ74h8 ( 0
－0.046)

φ76h8 (  0
－0.046 )

52

5.
510

16

(15)

(31)

(4
0)

(2
4)

160 
( ： ) 170 

( ： )

85

90
2 30

5H
8 
(+

0.
01

8
 0

)
5.

5

2-M10×1.5 20

133

90

45

2

85
45
° 70

26.5
2

5H
8 (
+0

.01
8

 0

)

5.3

P.C.D.55

30°

5H8 ( +0.018
 0
)

5.5

6-M6×1.0 10
(60ﾟ )

2-φ8.5
φ14  8.5

φ26H8 ( +0.033
 0 )

11 (
)

φ20 ( )
φ35H8 ( +0.039

 0 )

2 
(

)

32
0°

CW

【 】*3

*2
CCW
【 】

*1

C
C

W

CW

*1 。
    、 。
*2 
*3 【　】 。

5°±
1

5°±
1

114.2

26

（ ）

RF04 ー N ー ー ー

ー ー ー ー ※1

N：
 （ ）

N： N： R： N：CCW 1K：1m
H： H： L： Z：CW 3K：3m

5K：5m
10K：10m

※1. 。
※2. DIN P.500。
※3. 。 P.62。

（kg） 2.2

1.    .............  
  ............. /  
。

2. R30。

TS-S2
TS-SH

/

TS-SD

（a） （b）

（N） （N） （N·m）（a） （b）

314 378 296 398 517 9.7 12.0

※ ， “ ̶ 、 ” 、“ ̶ ” ，
。 

TRANSERVO 。

、 ： （°/s2）

：
I（

kg
·m

2 ）

0.00

0.02

0.04

0.06

0.08

0.10

0.12

100 1000 10000
：ω（°/s）

：
T（

N
·m
）

0

2

4

6

8

10

12

0 100 200 300 400 500

■ 

■  – · ■  – 

■ 

S2
S2：TS-S2※2 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SD 1
I/O

SD：TS-SD 1：1m



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

165TS-S2 492 TS-SH 492 TS-SD 502

RF04

RF04-NH  – 

 A-A 

AA

90

45

2

85
45

°

26.5
2

5H
8 (
+0

.01
8

 0

)

5.3

P.C.D.55

30°

5H8 ( +0.018
 0
)

5.5

6-M6×1.0 10
（60ﾟ ）

2-φ8.5
φ14  8.5

φ26H8 ( +0.033
 0 )

11 （
）

φ20 （ ）
φ35H8 ( +0.039

 0 )

2（
）

127(3) (3)

φ74h8 ( 0
－0.046 )

φ76h8 (  0
－0.046 )

52

15
.510

170
（ ： ）

85

90
2 30

5H
8 
(+

0.
01

8
 0

)
5.

5

2-M10×1.5 20

133

26

70

(15)

(31)

(4
0)

(2
4)

160
（ ： ）

32
0°

*1

*1 

*2 
*3 【　】

CW

【 】*3

*2
CCW
【 】

C
C

W

CW

5°±
1

5°±
1

114.2

26

（ ）

（kg） 2.4

1.    .............  
  ............. /  
。

2. R30。



Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

166 TS-S2 492 TS-SH 492

RF04-S

42□
20480 /

※1 ±0.05 °
＋

※2 420 °/sec 280 °/sec

6.6 N・ｍ 10 N・ｍ
3.3 N・ｍ 5 N・ｍ

±0.5 °
※3 0.04 kg・ｍ2 0.1 kg・ｍ2

：1 m / ：3 m, 5 m, 10 m

360 °

※1. 。
※2.  。 

“ ̶ 、 ” 、“ ̶
” 。

※3. ， P.606 。

  ● CE      ●    

■ 

/

RF04-SN  – 

AA

127(3) (3)

φ74h8( 0
－0.046 )

φ76h8(  0
－0.046 )

52

5.
510

16

(15)

(31)

(4
0)

(2
4)

160（ ： ） 170（ ： ）

85

90
2 30

5H
8(
+0

.0
18

 0
)

5.
5

2-M10×1.5 20

133
114.2

26

（ ）

90

85

26.5
2

P.C.D.55

30°

5H8( +0.018
 0

)

5.5

6-M6×1.0 10
（60ﾟ ）

2-φ8.5
φ14  8.5

φ26H8( +0.033
 0 )

11
(

)

φ20（ ）
φ35H8( +0.039

 0 )

2（
）

70

(2
0)

(15)

300（ ： ）113300（ ： ）

10
.8

12

C
C

W
C

W
36

0° *1

 A-A 

*1 

*2 

TS

RF04 ー S ー ー ー

ー ー ー ー ※1

S： 
 （ ）

N： N： R： N：CCW 1K：1m
H： H： L ： Z：CW 3K：3m

5K：5m
10K：10m

※1. 。
※2. DIN P.500。
※3. 。 P.62。

（kg） 2.3

1.    .............  
  ............. /  
。

2. 、 R30。

TS-S2S
TS-SHS

/

（a） （b）

（N） （N） （N·m）（a） （b）

314 378 296 398 517 9.7 12.0

※ ， “ ̶ 、 ” 、“ ̶ ” ，
。 

TRANSERVO 。

、 ： （°/s2）

：
I（

kg
·m

2 ）

0.00

0.02

0.04

0.06

0.08

0.10

0.12

100 1000 10000
：ω（°/s）

：
T（

N
·m
）

0

2

4

6

8

10

12

0 100 200 300 400 500

■ 

■  – · ■  – 

■ 

S2
S2：TS-S2※2 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※3



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

167TS-S2 492 TS-SH 492

RF04-S

RF04-SH  – 

AA

127(3) (3)
(15)

(31)

(4
0)

(2
4)

160（ ： ） 170（ ： ）

85

90

2 30

5H
8(
+0

.0
18

 0
)

5.
5

2-M10×1.5 20

133
114.2

26

（ ）

90

85

26.5
2

P.C.D.55

30°

5H8( +0.018
 0
)

5.5

6-M6×1.0 10
（60ﾟ ）

2-φ8.5
φ14  8.5

φ26H8( +0.033
 0 )

11
(

)

70

(2
0)

(15)

300（ ： ）113300（ ： ）

12

φ74h8( 0
－0.046 )

φ76h8(  0
－0.046 )

52

15
.510

26

2（
）

φ20（ ）
φ35H8( +0.039

 0 )

20
.8

C
C

W
C

W

36
0° *1

 A-A 

*1 。
、 。

*2 ， 。
    ， TS 。

（kg） 2.5

1.    .............  
  ............. /  
。

2. 、 R30。




